
Obje
tive of the paper

Can a DSVAR or LSVAR observe that hours in
rease after a

positive te
hnology sho
k, as a standard RBC model would

indi
ate?

Why important?

Gal�� (1999), Fran
is and Ramey (2003), Gal�� and Rabanal

(2004)

vs.

Christiano, Ei
henbaum and Vigfusson (2003)
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Major issues

Can a VAR identify 
orre
tly a model?

Are samples long enough to 
orre
tly spe
ify the lag

stru
ture of a VAR?
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Main results

� DSVAR are fundamentally misspe
i�ed for identifying a

standard RBC model and lead to wrong inferen
es

� Standard lag length tests do not dete
t the need for

more lags

� 2) is the reason for 1) (?)

� LSVAR are essentially uninformative

� Longer data samples would lead to wrong inferen
es
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What is a VAR?
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What is the tested model?
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Fern�andez-Villaverde, Rubio-Ram��rez and Sargent (2004):
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ks=#variables, if:

� D is invertible;

� A is stable;
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C are < 1.
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DSVAR 
hara
teristi
s:

� A stable

� D invertible

� eigenvalues of A�BD

�1

C:
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LSVAR 
hara
teristi
s:

� A stable

� D invertible

� eigenvalues of A�BD
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C:
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Small sample properties:

� Illusion of degrees of freedom

� Unit root tests have low power

� Root 
lose to one: bad small sample properties of

impulse responses (Pesavento and Rossi (2003))
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